



Abstract

Establishment – Rural Development and Panchayat Raj Department – Dharmapuri District – Creation and Diversion of posts to the newly formed Eriyur Panchayat Union – Sanction of Posts, furniture, vehicles and other equipments and sanction of Expenditure – Orders – Issued.

Rural Development and Panchayat Raj (E5) Department

G.O.(Ms).No.43

Dated : 21.02.2020. விகாரி, மாசி 9, திருவள்ளுவர் ஆண்டு 2051.

Read:

1. G.O.(Ms).No.127, Rural Development and Panchayat Raj (PR-II) Department, dated 14.09.2013.

2. From the Director of Rural Development and Panchayat Raj Letter No.66851/2019/F.1, dated 18.12.2019.

ORDER:

In the Government Order first read above orders has been issued by forming of a new Panchayat Union viz, Eriyur Panchayat Union bifurcating the Pennagaram Panchayat Union with 10 Village Panchayats in Dharmapuri District.

- 2. The Director of Rural Development and Panchayat Raj in his letter second read above has stated that the Eriyur Panchayat Union in Dharmapuri District is newly created and has to be started functioning. The Panchayat Union General Fund Account has to be opened and a portion of sum corresponding to the population may be apportioned to start the function of the new Panchayat Union. Further, the Director of Rural Development and Panchayat Raj has recommended for creation of 25 new posts and 13 posts by diversion from Pennagaram Panchayat Union to the newly formed Eriyur Panchayat Union which is based on the norms prescribed as the staffing pattern for the Panchayat Union in Rural Development and Panchayat Raj Department and also requested to sanction the recurring expenditure towards salary, recurring cost other than salary expenditure and non-recurring expenditure towards purchase of 3 Jeeps, furniture and office equipments thereof.
- 3. The Government have examined the proposal in detail with reference to the norms prescribed as the staffing pattern of Government orders for the Panchayat Union and accord sanction for creation of 25 new posts and diversion of 13

posts from Pennagaram Panchayat Union to the newly formed Eriyur Panchayat Union as detailed below:-

I) Government Side – Administrative

		sanctioned aram Block	ed to I Eriyur	n after ost for Block ats	Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Post sanctioned in Pennagaram Block	Post diverted to Newly created Eriyu Block	Staff Strength after diversion of Post for Pennagaram Block with 23 Panchayats	By Creation	By Diversion from Pennagaram Block	Total posts	
1,	Block Development Officer (BP)	1	-	1	1	-	1	
2,	Deputy Block Development Officer (General)	1		1	1	- -	1_	
3.	Deputy Block Development Officer (NMP)	1	_	1	1		1	
4.	Zonal Deputy Block Development Officer-IV	1		1 1	_	_		
5.	Accountant	1		1	1	_	1	
6.	Assistant	2	133	1	—	1	1	
7.	Rural Welfare Officer Grade-I	2	1	1	_	1	1	
8.	Junior Assistant	1	- 7	1	1		1	
9.	Rural Welfare Officer Grade-II	1	-	1 .		-	_	
10.	Extension Officer (SW)	1		1	1	(= 115)	1	
11.	Rural Welfare Officer (Women)	2	1	1	-	1	1	
	Total	14	3	11	6	3	9	

II) Government Side – Technical

		sanctioned aram Block	ed to sted sck	gth after Post for Block with	Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Post sanc in Pennagaram	Post diverted Newly create Eriyur Block	Staff Strength after diversion of Post fo Pennagaram Block w 23 Panchayats	By Creation	By Diversion from Pennagaram Block	Total posts	
1.	Assistant Engineer	1	-	1	1	/	1	
2.	Overseer	1		1	-	- ·	- 4	
1051	Total	2	The state of the state of	2	1	But to be	1	

III) Union Side – Administrative

		nctioned m Block	ed to ated ock	Staff Strength after diversion of Post for Pennagaram Block with 23 Panchayats	Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Post sanctioned in Pennagaram Block	Post diverted to Newly created Eriyur Block		By Creation	By Diversion from Pennagaram Block	Total posts	
1,	Election Assistant	1		1	1 1 1	Colored Joseph	1	
2.	Junior Assistant	2	1	1		1/4	1	
3.	Typist	2	1	1	-	11	1	
4.	Cashier	1	14.	1	1	mines and the second	1	
5.	Jeep Driver	2		2	2	is re-	2	
6.	Record Clerk	1		1	1	Property .	1	
7.	Office Assistant	4		4	4	Triffe = In	4	
8.	Night Watchman (including 2 TB watchman)	3	-	3	1		1	
	Total	16	2	14	10	2	12	

IV) Union Side – Technical

		ram Block Terred Terred Terred Terred Slock		n after ost for Block nayats	Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Post sanctioned in Pennagaram Block	Post diverted to Newly create Eriyur Block	Staff Strength ardiversion of Post diversion of Post Pennagaram Blowith 23 Panchay	By Creation	By Diversion from Pennagaram Block	Total posts	
1.	Road Inspector	3	1	2	-	1	1	
	Total	3	1	2	_	1	1	

V) Government Side – Administrative

PERM		ost ed in n Block	erted reated llock	ith after of Post am Block chayats	Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Post sanctioned in Pennagaram Block	Post diverted to Newly created Eriyur Block	Staff Strength after diversion of Post for Pennagaram Block with 23 Panchayats	By Creation	By Diversion from Pennagaram Block	Total posts	
1.	Block Development Officer (VP)	1		1	1		1	
2.	Deputy Block Development Officer(Panchayat)	1		1	1		1	
3.	Deputy Block Development Officer(Audit)	1		1	1	The second	1	
4.	Zonal Deputy Block Development Officer-II	1	1	- <u>-</u>	-	1	1	
5.	Zonal Deputy Block Development Officer-III	1	- I	1	-	LACE DE LA COMP	_	
6.	Accountant	1	- 1	1	1		1	
7.	Assistant	2	1	1	<u> </u>	1	1	
8.	Rural Welfare Officer Grade-I	1		1		<u>-</u> -	-	
9.	Rural Welfare Officer Grade-II	1	1		# <u>-</u> -		1	
10.	Jeep Driver	1	_	1	1	-	1	
	Total	11	3	8	5	3	8	

VI) Government Side – Technical

		ost id in i Block	verted to created ir Block	eated Slock gth after Post for Block with		Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Post sanctioned in Pennagaram Block	Post diverted Newly create Eriyur Bloc	Staff Strength after diversion of Post for Pennagaram Block wi 23 Panchayats	By Creation	By Diversion from Pennagaram Block	Total posts		
1.	Assistant Engineer	1		1	-	-	T -1		
2.	Overseer	1		1	1				
	Total	2	==	2			1- 1		

VII) MGNREGS - Administrative

Cl	M. Star III II. I characters.	ost ed in m Block	verted created Block	yth after Post for Block with	Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Post sanctioned in Pennagaram Block	Post diverted to Newly create Eriyur Block	Staff Strength after diversion of Post for Pennagaram Block with 23 Panchayats	By Creation	By Diversion from Pennagaram Block	Total posts	
1,	Deputy Block Development Officer (MGNREGS)	1.		1	1		1	
2.	Zonal Deputy Block Development Officer-I	1	1	- 5-	_	1	1	
3.	Assistant	2	T	2	1	May -d may	1	
4.	Computer Assistant(Consolidated Pay)	2		2	1		1	
	Total	6	1	5	3	1	4	

VIII) MGNREGS - Technical

		0 0		trength after on of Post for ram Block with anchayats	Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Pos sanctioned Pennagaram	Post diversity to Newly c	Staff Strength diversion of Po Pennagaram Blo 23 Panchay	By Creation	By Diversion from Pennagaram Block	Total posts	
1.	Assistant Engineer	2	1	1		1	1	
2.	Overseer	4	2	2		2	2	
	Total	6	3	3		3	3	

<u>Abstract</u>

		sanctioned in aram Block	ted to d Eriyur	Staff Strength after diversion of Post for Pennagaram Block with 23 Panchayats	Post sanctioned for newly formed Eriyur Block with 10 Village Panchayats			
SI. No.	Name of the Post	No of Post sanc Pennagaram	Post diverted Newly created E Block		By Creation	By Diversion from Pennagaram Block	Total posts	
1.	Total No. of Administrative Post	47	9	38	24	9	33	
2.	Total No. of Technical Post	13	4	9	1	4	5	
	Total	60	13	47	25	13	38	

- 4. The Government further accord sanction for the purchase of Vehicles, Fuel Expenses, Telephone charges, Rent, Electricity charges, Contingency, Stationary, Furniture and Office equipments and the Level of Pay to the posts to the newly formed Eriyur Panchayat Union as detailed in the Annexures I, II, III and IV of this order.
- 5. Sanction is accorded for incurring recurring expenditure of Rs.1,64,06,000/-(Rupees One crore sixty four lakhs six thousand only) per annum and for incurring non-recurring expenditure of Rs.35,53,678/- (Rupees Thirty five lakhs fifty three thousand six hundred and seventy eight only) for the newly formed Eriyur Panchayat Union as detailed below:-

SI. No.	Items	Recurring (Rs.)	Non – Recurring (Rs.)	
1.	Towards Salary Expenditure (i) Government Head of Account (ii) Panchayat Union General Fund (iii) Mahatma Gandhi National Rural Employment Guarantee Scheme Admin Fund Total	98,70,000 43,52,400 15,69,600 1,57,92,000	1,57,92,000/-	
2.	Recurring Cost Other than Salary (will Panchayat Union General Fund except maintenance of Vehicle allotted to Block Officer (VP) which will be met from S Commission Fund.)	the fuel and Development	6,14,000/-	
3.	Purchase of 3 Jeeps (@ Rs.6,48,000/- per ve Block Development Officer (BP) 1 Jeep Block Development Officer (VP) 1 Jeep Chairman, Panchayat Union 1 Jeep			19,44,000/-
4.	Purchase of Furniture		-	11,72,678/-
5.	Purchase of Office Equipments			4,37,000/-

- 6. The new posts are created temporarily for a period of three years reckoned from the date of filling up or till the necessity ceases, whichever is earlier. The incumbents of posts sanctioned in para 3 above are eligible to draw pay and allowances in the scale of pay applicable, as per rules in force. The expenditure sanctioned in paragraph 5 above shall be debited to the heads of accounts as indicated in Annexure V of this order.
- 7. The Expenditure constitutes an item of "New Instrument of Service" and the approval of the Legislature will be obtained in due course. Pending approval of the Legislature, the expenditure is to be initially be met from an advance drawn from the contingency fund. Order regarding this will be issued separately in Finance (BG-I) Department. The Director of Rural Development and Panchayat Raj is requested to

apply in duplicate for sanctioning of contingency fund in the prescribed proforma along with the copy of this order to Government in Finance (BG-I) Department. The Director of Rural Development and Panchayat Raj is requested to include this expenditure while sending the proposal for Final Supplementary Estimates for 2019-2020 at appropriate time.

8. This order issues with the concurrence of Finance Department vide its U.O.No.5413/Fin(RD)/20, dated 18.02.2020 and U.O.No.8743/Fin(CMPC)/20, dated 20.02.2020 and with Additional Sanction Ledger No.3028 (Three thousand twenty eight).

(BY ORDER OF THE GOVERNOR)

HANS RAJ VERMA. ADDITIONAL CHIEF SECRETARY TO GOVERNMENT.

To

The Director of Rural Development and Panchayat Raj,

Chennai-15.

The District Collector, Dharmapuri District.

The Commissioner, Eriyur Panchayat Union, Dharmapuri District.

The Accountant General, Chennai – 18 / 35.

The Director of Treasuries and Accounts, Chennai-35.

The Director of Local Fund Audit, Chennai-35.

The District Treasury Officer, Dharmapuri District.

Copy to

The Hon'ble Chief Minister's office, Chennai-9.

The Special PA to the Minister for Municipal Administration,

Rural Development and Implementation of Special Programme,

Chennai-9.

The Principal PS to the Chief Secretary to Government,

Chennai-9.

The Principal PS to the Additional Chief Secretary to Government.

Rural Development and Panchayat Raj Department, Chennai-9.

The Finance (BG-I/BG-II/CMPC/RD) Department, Chennai-9.

All Departments of Secretariat, Chennai-09.

Roc No. 66851/2019/F1, Directorale of Rural //Forwarded by Order// dt. /02/2020. Development & Panghayat Ray Deportment.

Forwarded for necessary action.

To

The District Collector, 200000 Monates

ANNEXURE - I

(G.O.(Ms)No.43, RD&PR (E5) Department, dated 21.02.2020)

Annual Recurring Costs (other than salary) for **Eriyur Panchayat Union**

SI. No.	Details	Amount (in Rs.)
1.	Fuel and Maintenance of Vehicles (3 Jeeps)	3,15,000
2.	Telephone Charges	24,000
3.	Rent	As per PWD norms
4.	Electricity Consumption Charges	1,50,000
5.	Contingency	25,000
6.	Stationery	1,00,000
	Total	6,14,000/-

HANS RAJ VERMA, ADDITIONAL CHIEF SECRETARY TO GOVERNMENT.

//True copy//

ANNEXURE - II

(G.O.(Ms)No.43, RD&PR (E5) Department, dated 21.02.2020)

Details of Furniture required for the Eriyur Panchayat Union

			Name of the Office (Requirement in Nos.)			Total
SI. No.	Name of the Items	Block Panchayat	Village Panchayat	Total	Unit Cost (Rs.)	Expenditure (Rs.)
1.	Wooden Junior Executive Chair	2.	2	4	5,519	22,076
2.	Wooden Assistant Chair	15	12	27	4,760	1,28,520
3.	Wooden Typist Chair	1	1	2	4,760	9,520
4.	Senior Executive Table	8	5	13	23,416	3,04,408
5.	Wooden Assistant Table	10	7	17	10,471	1,78,007
6.	Wooden Typist Table	1	1	2	10,471	20,942
7.	Steel Almirah	2	3	5	10,947	54,735
8.	Wooden Almirah	7	3	10	10,947	1,09,470
9.	Wooden side rack	10	5	15	13,000	1,95,000
10.	Wooden Stool	4	4	8	1,000	8,000
11.	Wooden tray	2	3	5	1,000	5,000
12.	Reaper record rack	10	<u> </u>	10	13,000	1,30,000
13.	Pigeon hole cupboard	1		1	7,000	7,000
	Total	73	46	119		11,72,678/-

HANS RAJ VERMA,
ADDITIONAL CHIEF SECRETARY TO GOVERNMENT.

//True copy//

section Officer.

ANNEXURE - III

(G.O.(Ms)No.43, RD&PR (E5) Department, dated 21.02.2020)

Details of Office Equipments required for the Eriyur Panchayat Union

SI. No.	Details of items	Requirement in Nos.	Unit Cost (Rs.)	Total Expenditure (Rs.)
1	Computer	5	65,000	3,25,000
2	Multi Purpose Printer	2	20,000	40,000
3	Photo Copier	1	50,000	50,000
4	Fire Extinguisher	2	10,000	20,000
5	Telephone	2	1,000	2,000
		Total		4,37,000/-

HANS RAJ VERMA, ADDITIONAL CHIEF SECRETARY TO GOVERNMENT.

//True copy//

Section Officer.

ANNEXURE - IV

(G.O.(Ms)No.43, RD&PR(E5) Department, dated 21.02.2020)

Eriyur Panchayat Union

SI. No		Details of Post	Total No. of Posts Created	Level of Pay	
	Gov	ernment Head of Account			
1	a.	Block Development Officer (B.P) & (V.P)	2	Level 20	37700-119500
	b.	Deputy Block Development Officer	4	Level 18	36900-116600
	C.	Accountant	2	Level 10	20600-65500
	d.	Junior Assistant	1	Level 8	19500-62000
	e.	Jeep Driver	1	Level 8	19500-62000
	f.	Extension Officer(Social Welfare)	1	Level 11	35400-112400
	g.	Assistant Engineer	1	Level 20	37700-119500
		Sub Total	12		
2	a.	Election Assistant	1	Level 10	20600-65500
	b.	Cashier	1	Level 8	19500-62000
	C.	Driver	2	Level 8	19500-62000
	d.	Record Clerk	1	Level 2	15900-50400
	e.			Level 1	10000-00400
	2	Office Assistant	4	Level	15700-50000
	f.	Office Assistant Night Watchman	1	Level 1	
	Г.				15700-50000
		Night Watchman	1		15700-50000
3	MGN a.	Night Watchman Sub Total IREGS Admin Fund Deputy Block Development Officer	1		15700-50000
3	MGN a. b.	Night Watchman Sub Total IREGS Admin Fund Deputy Block Development Officer Assistant	1 10	Level 1	15700-50000 15700-50000
3	MGN a.	Night Watchman Sub Total IREGS Admin Fund Deputy Block Development Officer Assistant Computer Assistant	1 10	Level 18 Level 10 Conse	15700-50000 15700-50000 36900-116600
3	MGN a. b.	Night Watchman Sub Total IREGS Admin Fund Deputy Block Development Officer Assistant	1 10	Level 18 Level 10 Conse	15700-50000 15700-50000 36900-116600 20600-65500 olidated Pay

HANS RAJ VERMA, ADDITIONAL CHIEF SECRETARY TO GOVERNMENT.

//True copy//

Section Officer

ANNEXURE - V

(G.O.(Ms)No.43, RD & PR (E5) Department, dated 21.02.2020)

HEAD OF ACCOUNT	DETAILED HEAD	DESCRIPT	ION
2515-00 Other Rural	301	Salary	(OLD DPC (DH))
Development Programmes.	01	Pay	
001-Direction and		(DPC 2515 00 001 AE 30101)	(0102)
Administration – State's	30301	DA	
Expenditure. AE-Block		(DPC 2515 00 001 AE 30301)	(0317)
Headquarters – Block	305	Office Expenses	
Panchayats	05	Furniture	
		(DPC 2515 00 001 AE 30505)	(0559)
	321	Motor Vehicle	
	01	Purchase	
		(DPC 2515 00 001 AE 32101)	(2119)
			(21.0)
2501 – Special Programmes	301	Salary	
for Rural Development. 06-Self	01	Pay	
Employment Programmes.		(DPC 2501 06 003 JC 30101)	(0103)
003-Training-States's	303.01	Dearness Allowances	
Expenditure. JC-Monitoring		(DPC 2501 06 003 JC 30301)	(0318)
and Controlling of Panchayat	305	Office Expenses	
Raj and Implementation of	02	Other Contingencies (Telephone	purchase)
Rural Development Schemes.		(DPC 2501 06 003 JC 30502)	(0523)
	. 05	Furniture	
Washington and the second of the second		(DPC 2501 06 003 JC 30505)	(0550)
	321	Motor Vehicle	(0000)
	01	Purchase	
		(DPC 2501 06 003 JC 32101)	(2110)
	376	Computer & Accessories	(2110)
	01	Purchase	
CA.	01	(DPC 2501 06 003 JC 37601)	(7615)
3/22 2 11		(5. 5 250 / 55 505 55 57 57 57	(7013)
2505 – Rural Employment. 01-	301	Salary	
National Programmes. 702-	01	Pay	
lawahar Gram Samridhi	" - XX N	(DPC 2505 01 702 JP 30101)	(0106)
ojana State's Expenditure.	303.01	Dearness Allowances	
IP-Sampoorna Grameen	220.01	(DPC 2505 01 702 JP 30301)	(0311)
Rozgar Yojana-Village		(======================================	(3311)
Panchayat			
545 00 Other Decid	004	Colomi	
515-00- Other Rural	301	Salary	
Development Programmes.	01	Pay	(0.40.4)
00-Other Expenditure-State's	000.07	(DPC 2515 00 800 KV 30101)	(0104)
xpenditure. KV-	303.01	Dearness Allowances	
Strengthening of Block		(DPC 2515 00 800 KV 30301)	(0319)
Administration-			
mplementation of Anti-	4-44-11		
overty Programme-Village			
anchayats.			
515-00- Other Rural	301	Salary	
evelopment Programmes.	01	Pay	
01-Direction and		(DPC 2515 00 001 AT 30101)	(0102)
dministration State's	303.01	Dearness Allowances	(0102)
xpenditure. AT-Block Head	303.01	(DPC 2515 00 001 AT 30301)	(0317)
when and a vi minory i ioua		(DI O 2010 00 001 AT 30301)	(0317)

2236-Nutrition. 02-Distribution	301	Salary	
of nutritious food and	01	Pay	
bewerages. 102-Mid-day		(DPC 2236 02 102 AR 30101)	(0108)
meals-State's Expenditure. AR	303.01	Dearness Allowances	
 Staff for implementing 		(DPC 2236 02 102 AR 30301)	(0313)
puratchithalaivar MGR	301		Wanging and
Nutritious Meal Programme in	No. of the latest of the lates		Waller Balling
Rural Areas		England St. / F and the Control	- distribution of
Recurring and Non-Recurring	2505-Rural Em	ployment. 02-Rural Development (Guarantee Scheme.
Recurring and Non-Recurring	101-National Ribetween State	nployment. 02-Rural Development (ural Employment Guarantee Schem- and Centre. UA-National Rural Emp grants-in-aid. 03-Grants for Specific S 101 UA 30903) (09	e – Scheme Shared ployment Guarantee Scheme.
	101-National Ribetween State Scheme. 309-G	ural Employment Guarantee Schemand Centre. UA-National Rural Emplorants-in-aid. 03-Grants for Specific S	e – Scheme Shared ployment Guarantee Scheme.
Recurring and Non-Recurring Recurring and Non-Recurring	101-National Ribetween State Scheme. 309-G (DPC 2505 02 7) 2505-Rural Em 793-Special Ce Scheme Share	ural Employment Guarantee Schemand Centre. UA-National Rural Employments-in-aid. 03-Grants for Specific Schematics (101 UA 30903) (09. In ployment. 02-Rural Development Central Assistance for Scheduled Castered between State and Centre. Guarantee Scheme. 309-Grants-in-	e – Scheme Shared ployment Guarantee Scheme. 39) Guarantee Scheme. es Component Plan-UA-National Rural

HANS RAJ VERMA, ADDITIONAL CHIEF SECRETARY TO GOVERNMENT.

//True copy//

Section Officer.